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                             ENGLISH  

 

I.                                  14x1=14 

                         

          

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

II.                                   4x2=8  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

III. Answer the following:                   5x2=10 

 

 

 

 

 

 

 

 

 

IV.                             5x1=5  

 

 

 

 

 

V.                           10x1=10 

 

 

 

 

     f)  There are no breads in this shop.     g) Now he reads a lesson.  
     h) One of the boys have a car.              i) The three last chapters are difficult  
     j) He waited for a hour  
VI.1)                                                       3x1=3

     

 

 

     2)  

 

    3) Choose the most appropriate linker from the given four alternatives.  

        He is not only honest ___________ also obedient.  

        a) nor    b) though   c) but   d) or else  


